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1) ‘Black Monday' is related to

Stock Market
Terrorism
Environment
Women's Right
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2) During the Liberation War of Bangladesh, the President of USSR was

1) Leonid Brezhnev

2) Nikita Khrushchev

3) Mikail Gorbachev
v 4) Nikolai Podgorny

AT 2 AR Fdol Fapreid USSR 1 The Union of Soviet Socialist Republics
(IG5 IIPRR) (AT focetd Nikolai Podgorny.

3) You can include names and addresses from a Source in MS-Word
document a automatically by using

1) table
2) hyperlink
v 3) mail merge
)

4) slides
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4) Which of the following is the name of the bank established by BRICS?

1) BRICS Development Bank
2) Developing Bank bit



v 3) New Development Bank
4) Newly Developed Bank

4T : BRICS 02 136 WAARST (@G | THARRORGD 118 \3 TG GRmmor 95T
(STTGEYE STTPS ] QAo & \3Tded BRICS RN 2Rk%d Id | A3 (SO TS
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16) Active form of- i was surprised to see that he had been beaten black and
blue

1) i was surprised to see he had beaten black and blue

v 2) it surprised me to see he had been beaten black and blue
3) it was surprising he had been beaten black and blue
4) that he had been beaten black and blue was surprising

T : -2MS RN independent clause 'l was surprised' - A3 active voice ICO
T AR AP QX ARG Y|

- 9 main clause T past indefinite tense 1 AQCZ| IH Active structure :
Subject (It ¥ faco 2R) + verb in simple past form + ¥ IR Sub-I7 object
form.

TG S8 AT - It surprised me to see that he had been beaten black and
blue.

Black and Blue means To beat very badly (SCH-TIT/TR (\3T) |



17) Which of the following can be arranged into an English word? a. ANSLAIT
B. LSNIT C.OTATM D. WQRGS

AT : ANSLAIT *RE S[aRiaist 30 WARTGE Latinas <0 <M1 I0, T Latina O3
42904 |

Latina (Noun)

English Meaning

- a woman or girl who is a native or inhabitant of Latin America.

- a woman or girl of Latin American origin living in the U.S.

Source: Merriam-Webster Dictionary.

18) He was a king who rulled his subject with a high hand

v 1) oppressively
2) kindly
3) convencely
4) sympathetically

14 : A high hand (phrase)
Meaning: an oppressive or dictatorial manner.
Bengali meaning: 330wl |

oppressively (adjective)
Meaning: Inflicting harsh and authoritarian treatment.
Bengali meaning: TSI 1T fRIOIR XT5d BT 5 T 1 foRy< *IT57d 71T 77eg T |

The phrase a high hand is synonymous to oppressively.
AN PR W . o aFq e aren R O Irey Yo =15 Fhcod |

Bengali meaning of other words:
Kindly = 3MTOI| |
convenient = RYTGET |

Sympathetically = 5RIqghod ST |
Source: Collins Dictionary & Bangla Academy Dictionary.



19) ‘Brevity is the soul of wit’ “FI%O3 TYRY IFMRM

1) WIS g 237

v 2) A AT Sicett
3) AT AT I IS
4) I I IS @RI

TN : Brevity is the soul of wit = Ffaex WIfde ST | Tidie, sApesr Tz IrTeR
T | Q7 AT AT, I @RS YR WG FAR AP Jfanies FAT AP IS AT |

20) The idoms 'at ones wits end' is synonymous to the word

v 1) preplexed
2) clear up
3) explain
4) enlighten

AT : Be at one's wits' end (phrase)
Meaning: Be overwhelmed with difficulties and at a loss as to what to do
next. Bengali meaning: 29C¥ ; GJKIBTP |

Perplexed (adjective)

Meaning: Completely baffled; very puzzled.

Bengali meaning: 253% |

@], The idiom 'at one's wit’s end' is synonymous to Perplexed.
Bengali meaning of other words.

Clear up = “IIRgR 27|

Explain = I047 BT, QIGSTHY ST, A ARER AT |

Enlighten = SIda1d 41 ; WGs0], B QRN ST fa ReIrsisiez 7@ A7 |

Source: Oxford Dictionary & Bangla Academy Dictionary.

21) Choose the correct spelling .

1) Entrepreneur
v 2) Entrepreneur

3) Enterpreneur

4) Entrepreneure

M : Entrepreneur (noun)
Meaning: A person who sets up a business or businesses, taking on financial
risks in the hope of profit. Bengali meaning: STTGT |



Example: Students are invited to come and hear what it takes to become a
successful young entrepreneur.

Source: Oxford Dictionary & Bangla Academy Dictionary.

22) Think of one word only which can be used appropriately in all three

sentences. i) The employment crisis is that it is affecting 25% people.
i) torrential rain is rare in this part of the world. iii) | didn't have a
problem with the new manager's ideas as , but | disliked some of his

mannerismes.
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such
SO
high
much

)
)
)
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AT : ) 9L AP Such that TR AQFd .......... @ i) dR MDY I A2, (T, PHFRE AT QT
B0 T @ Afb 25% RGP ARG PAE |

ii) 9% ACPR Such WY TP , Q TOR ;1 YA |

TG I 202 @, SRR I3 TR QP FINR 18 Y3 [T |

iii) 92 IR As such T 2FO/ATIR Y AT G1B |

@&d : He did not deride poetry as such but only what passes for it.

AR T ; T Tgd MIASEL HNCA WTHR @1 XA (@2 38 Wiy O 37 TS Aorgs
IR

23) The antonoym of ‘inspid’ is-

1) brave
v 2) exciting
3) cold

4) dull

I : Insipid (adjective):
Meaning: Lacking vigour or interest.
Bengali meaning: k351, J7s1 , SRf3w , feam , or |

Synonym: uninteresting, boring, vapid, dull, spiritless, zestless. Antonym:
interesting, exciting.

Source : Oxford Dictionary & Bangla Academy Dictionary.



24) Indirect speech of ‘ are you alone ,my son?asked a soft voice close
behind me

1) what i was doing there alone was asked by a soft voice

2) a soft voice told me as his son and asked weather i was alone
3) soft voice from by behind asked me if i was alone

v 4) addressing me as his son a soft voice asked if i was alone

I : Direct speech 1 My son 7K1 R 31 RIRATCAR FRCT Addressing me as his
son IRO X | O3 3P indirect speech: Addressing me as his son a soft voice
asked if | was alone. (9T if - 'R AT WY IRTO T |

25) A feeling of anticipation over a future event

1) disparate

2) magnanimous
v 3) presentiment
4) incongruent

I : Presentiment (noun)
Meaning: An intuitive feeling about the future, especially one of foreboding
Bengali meaning: % I000 T2 I W8 OG0 ; R[REN ; WS | 9N |

Bengali meaning of other words:

Disparate = 5P ; S ; S 1 AARECT PAAT 77 97 |
Magnanimous = OO |

Incongruent = SB63d , @18 |

Source: Oxford Dictionary & Bangla Academy Dictionary.

26) He escaped by

1) The hair's breadth

2) The breadth of a hair
v 3) A hair's breadth

4) A breadth of a hair

N— N N N



I : Hair's breadth (idiom)
Meaning: a very small distance or amount
Bangla meaning: 5 SIIR&19 IR ; GPICATHCD I1 SR Sy 57 |

Escaped by a hair's breadth 31 QGI A hair breadth escape @1 IR IR WY DR
Gy T ATSAT |

27) the synoym of ‘sanguine’ is-

v 1) optimistic
2) restless
3) hopeless

4) bloody

M : Sanguine (adjective):

Meaning: Optimistic or positive, especially in an apparently bad or difficult
situation.

Bengali meaning: PRI |

Synonym: optimistic, bullish, hopeful, buoyant, positive.
Antotyn: pessimistic, gloomy.
Source : Oxford Dictionary & Bangla Academy Dictionary.

28) Match 'words' to their dictionary 'definitions'. The state of having
contradictory of conflicting emotional attitudes -

vl
2
3
4

ambivalence
exigency
reprisals
contraint

S~— N N N

[T : Ambivalence (noun)

Meaning: The state of having mixed feelings or contradictory ideas about
something or someone. Bengali meaning: *R™&K =131 a1 5709 7f0 7%, WY
BONMRA QPTAT GG 1 SO RKyard e |

Bengali meaning of other words:

Exigency = S ORI

Reprisal = A9 |

Constraint = 519 , SER=I |

Source: Oxford Dictionary & Bangla Academy Dictionary.



29) Pyong Yang and Washington have finally come to a consensus.’this is an
exampul of-

1) metaphor

v 2) metonym
3) euphemism
4) dysphemism

YT : Metonym

A word, name, or expression used as a substitute for something else with
which it is closely associated. IR T ; forae 312 IR ST TROTT FPTHCOY
Gy

QYT FoTo o1 3018 \3 S5 e JoTE \3 BB @IRIIS @RI T |

* Metaphor - a figure of speech in which a word or phrase is applied to an
object or action to which it is not literally applicable.

* Euphemism - a mild or indirect word or expression substituted for one
considered to be too harsh or blunt when referring to something unpleasant
or embarrassing.

* Dysphemism - a derogatory or unpleasant term used instead of a pleasant
or neutral one.

Source: Oxford Dictionary & Bangla Academy Dictionary.

30) The Asylum: Shelter then-

1) Hospice:Exile

2) Harbour:Concealment
v 3) Stronghold:Defence

4) Palisade:Display

4T : The Bengali meaning of question words:
Asylum: QIR , fa<ToraT |
Shelter: faRToM ORI ;, <[ |

The bengali meaning words in options:
F)Hospice: KB ; ATHTAAT |

Exile: faam |

A)Harbour: (ATORR |

Concealment: Q&3 ; TIRA |
sT)Stronghold: 75 ; 13 |

Defense: afo@Tg 34T |



Y)Palisade: @9T |

Display: 2%d 3T |

Logic in Answer:

Asylum @ Shelter CRIT A |

WK Stronghold IR FIKH I8P Defense IR1 3 |
R 53 BA : 51) Stronghold : Defense

Source : Bangla Academy Dictionary

31) We were at a disadvantage-that we did not had a very good knowledge
of the language the others were using—

JMT : Be at a Disadvantage 939 'to' f8231'in' I TR WY RATE T, TIRYTT 21T |
©R 53T BT - ) in

IR A . AT 1P ST (T O IR PR G ST ST SICTT ST T ATRPTI AT
RN 1coiaes |

32) If you can win his attention—for you

1) the so much better
2) the better so much
v 3) so much the better
4) so much for better

4 : So much the better (phrase)

Meaning: that is even better.

- used to say that a particular action or situation would be even more
successful

PR WY B TM O TS WP IO A, O U571 (OTHR Telj THAGTD |
Source: Oxford and Cambridge Dictionary

33) Translet to english: TR @TET (IR ITSRANGD AT (@3 —

v 1) he has no political axe to grind
2) he has no political will to move on.
3) he has no political idol to follow



4) he has no strong political stand to speak up

AT : Have an axe to grind (phrase)

Meaning: Have a private reason for doing or being involved in something.
Bengali Meaning: J5R& 41T |

OOHCT (STGICET JTOXARGP T dT ATPT Y

He has no political axe to grind I5{< |

Source: Oxford Dictionary & Bangla Academy Dictionary.

34) The sum of 3 consecutive integers is less than 75. what is the greatest
possible value of the smallest one?

1) 16
2) 19
3) 22
v 4)23

T ; 4f,
YT f5afD IA@FE X, X + 1, X + 2

AJHA9,
X+2+X+x+1<75
3x+3<75
3x+3-3<75-3

3x <72

x/3 < 72/3

X <24

(210 ST = (24 -1) =23

35) If y/x=3/7 and x + 2y =13 theny is

1) 2
v2)3
3)4
4) 7

T ORI AR,
=>y/x = 3/7
=>3Xx =7y
=>x = 7y/3



CUNIRRE

=>X + 2y =13
=>(7y/3) + 2y = 13
=>(7y + 6y)/3 =13

—>13y/3 = 13
=>y/3 =1
36) If x = y?, y = z° and z = x¢ then abc is
vl1l1l
2)0
3)12
4) infinity
x=y%y= 20 @32 7= x°
497
z = X°
SIc P
b (}7- — Z
=y =z
= (V)% = 2
= ¢ _
= Zabc = ;1
= abc =

37) what does make ‘you’ young’?

vl
2
3
4

Adding 2 velars

Drinking energy beverage
Eating sweet fruits
changing outfits

~— N N N

4T : You + ng = Young
So, adding 2 letters you become young.

38) Fill in the gap -— make esier to find visited web pages later.

1) placersholder
v 2) bookmarks
3) ULRs



4) add-ons

4T : Bookmarks make easier to find visited web pages later.

Using a World Wide Web browser, a bookmark is a saved link to a Web page
that has been added to a list of saved links. When you are looking at a
particular Web site or home page and want to be able to quickly get back to
it later, you can create a bookmark for it.

39) panmunjom declaraton is a peace treaty signed between

v 1) north and south korea
2) usa and north korea
3) usa and vietnam

4) chaina and japan

AT : - 73 PIRAR FIFEIO! ST ATTIIG |

- 93 BT Mo (o e T2 B UL a4 (8 3d (T (i WK 3 T4 |

- 13 (PIRUR 73 (0T (IR L& SN I ¢ |

- A T P8 Q3R FA ‘@IRT BoiRice! X3, Ty Q92 IFTATTOIIT SREFTS AagaeE QY
ARA'Y APF] S|

Kim Jong Un, Chairman of the State Affairs Commission of the Democratic
People’s Republic of Korea and Moon Jae-in,

President of the Republic of Korea, reflecting the unanimous aspiration of all
the Koreans for peace, prosperity and reunification,

held the Inter-Korean Summit Meeting at the “Peace House” at
Panmunjomon 27 April, 2018 at the significant period of historic turn being
made on the Korean peninsula.

Source: www.mofa.go.kr

40) How many global goals have been included in Sustainable Development
Goals (SDGs)?

1
2
v 3
4

) 15
) 16
) 17
) 18

AT : (G2 OHA THIAIAR ARSI a1 2T Transforming our world. 2000 SER
T I3 TPF \3 PRI *[R0R SR e Sifosieaww, 193 T 677 The Sustainable
Development Goals (SDGs) A3 13 FiETS 55 I | B@E SDGs A7 &P 7587 17
3L STHTAAT 169 T



41) In 2018 womens t-20 asia cup final, who was awarded the title player of
the match?

v
2
3
4

rumana
salma
jahan ara
panna

~— N N S

AT ; A 1oy A1) B - GRS 2050 TRAE ST SgYo 28 ISR \3 RO J4T | A I
AP GIROCP fod BT KT AT (@ICAT WBETOP ILTN ST M 572 I | I T
AR ATRPITNGER Sl T TR 7 FIT5 2SR (TR TG PR FATA AR (IR |

42) Office LANs which are scattered geographically on large scale can be
connected by the use of corporate -

AN = (T @O\3TRE AR FIKICH (R RST SIS 26 AT W12 20 PRS0 T @0\ ST feT
SR S QTSTICATST BT PR O WM 2T I P 3B QfT G53a=E (WAN) 0T |

- WAN < 9[9@91- Wide Are Network |

- 13 (A @0\3TE BT, STIHERD, HIXFIORG, T, @OR B3 \3 ATGEHRE T3S
IR BT 2|

- T WM IR BT I3 4RER (@5 \3T76 @1 IR0 2|

- \3T13T QA @HBTRP (WAN) IR T-T BTG HItAK STOT PRSI0 IR 1 IR |

- RifGa o1, *1a-=1fa<p1, I3, beiftba orefo 5182 \3 IR I I |

513- Indiana University Website

43) The next number of the sequenceis _ 4,3,9,3,19,3 ....

1) 31
2) 32
v 3) 39
4) 49
IT = AR

JWITHIRS 3, 3,3, 3..........

YHIrBRS . 4, 9,19, ...
4x2+1=9



9%x2+1=19
19 x2+1=39

44) The asian team defeated a lathin america team for the first time in the
history of fifa world cup is

1
2
3

va

saudi arabia
south koria
uae

japan

~— N N S

T : G-7 (Group of Seven) X ReId RIETES SOl GOR SRPH/ATE AR TAANGD
CPTRITE T1 5»Aa¢ ST 5130 2 |

G-7 a7 GO T -

- YA

- JEATE)

- P18

- Ot

- 3o

- PTATET \3

- QAT (QPET GT) |

058 ST I PRI AR 5757 T2eetl | O 3 ard foeetl G-8 1
890F G-7 T SCHETT 55-50 T 303 THATTH IS WO0 2 |

(TS : g7uk \STIIZG)

45) The slope of the line perpendicular to the line y = -5x+9 is-

1)-5

2)-1/5
v 3)1/5

4) 5

MY 2 Since y = mx+cC

Here slope m = -5

«¥d perpendicular 318 @YK Slope @ IR fRIE I slope 7 RO ©A1LT (@R IR
ATFS T T QT A1

So, line perpendicular will have slope m =-1/m = - (-1/-5) = 1/5



46) Budget deficit(%of gdp) stands at FY 2018-19 of bangladesh is-

1) 3.9
v 2)4.9
3)5.9
4) 6.3

YT : - AR 033-0 WY IR ICAG ¢OTH (AGIOIPIAIHR ¢ 0 |
- SO WK Y T Qb TSR W8 @IL TI0T |

- TP ST FHSHCO 2 TR 8Y TSR VY GIL TIPT [ 2B FAT AT |
- ST TEGTor o 41T 7 4.¢% |

- BTG TR IO GHT 2Z €.V % |

- SR QAPT I-T G2 AT 1 TS0 Oo.5% |

- 303330 TREREA ACSLD FLRT FITG AR - © 1Y BT |

B . RO \3RISIRE |

47) In a series of 6 consecutive odd numbers if 15 is the 6th number, what is
the 4th number in the series?

1) 7
2)9
v 3)11

4) 13

TN ; WY TG AT = 15
¢¥ Rteme 547 = 13

8 RICSTG AT = 11

0y Rteme 747 = 9

T RSG5y = 7

ST Ritars 514y = 5

48) Which of the following is the regulator of capital market in bangladesh

v 1) BSEC
2) DSE
3) Bangladesh Bank
4) ICB

T : - AT CRIK ITSEA [RIFP 57281 27 BSEC (Bangladesh Securities
Exchange Commission)|

- aff Y%V R b G Ao |



- O3 TG BRI AR G, FREAT FITS B BT |

- BSEC < Wiq ISR 563 AFHCET ST 00T | QST T
- DSE (Dhaka Stock Exchange)

- CSE (Chittagong Stock Exchange)|

(TW33As BSEC \3CIISIZD)

49) Special Drawing Right (SDR) is reletated to-

TN : - Special Drawing Rights (SDR) - U3 515310 \3 /fio[e (ke [Rifcert a1
I T IMF 3% 2[5 \3 faufgo |

- VDY I TWRAFAT SDR oG FH |

- IS ¢f6 SDR %% - MfFd TR, 38T, [F0T 218 (TRIR), Biar 36T1d \3 ©nenfd 3ad |

Beg IMF

50) A train 240 m long passed a pole in 24 seconds . How long will it take to
pass a platform 650 m long ?

1) 65s
v 2) 89S
3) 100s
4) 130s

TN : (GADA (HIG 7Y Ao PACO A = (240 + 650) R = 890 RIGH
Eafo 240 fAOR TfSFT FAO FTTW (® = 24 LIS

a1 AR TfGwFd TA00 ST @ = 24/240 KIS

@A 890 TR TG PO ST (W = (24 x 890)/240 HIT

= 89 GG

51) If a, b and c are the lengths of the three sides of a triangle , then which
of the following is true?

l)a+b<c

v2)a-b<c
3)a+b=c



4)a+b=c

AT : AT S
oo QI 43 17 RIS DO IR DT (216 XA |
a, b 1R ¢ ToroR fGalb IR TATa - b < c X3

52) If a pole 6 m high casts a shadow 23 m long on the ground , then the
elevation of the sun is -

v 1) 60°
2) 45°
3) 30°
4) 90°

Given height of pole =6m

length of shadow =24/3m
Let '6 ' be elevation. of sum then

—AB _ 6
tanG)—BC 5

24/

Ul

Rk tanf = \/§

tanb = tan%
thend = 3

.. Angle of elevation of sum is 60°.

53) The difference between two numbers is 5 and the difference between
their squares is 65. What is the larger number?



(2)FR STPAT T 13,
X2 -y2 =65

(X +y)x-y)=165
(X +y)x5=65

X+y=13.......ccoienns (3)
(1) + (3)=
X-y+x+y=5+13
2x =18

Xx=9

54) Which device may be used for primary input of OCR?

1
2
v 3
4

) Plotter

) Keyboard

) Scanner

) Printer

AT : Scanner TAPLT TCOTP I (@XIER J9T | I7 TYXE @ @19 @41, B, BRI SRS
FONM FTd IR ISR TG TABT TS AR PASIG P IR | 2RIVICO [RINST SROGOTIR
@&d3 Adobe Photoshop IR S R fanTe daecs yfFracer WSt w1 I

55) Which of following is not virus

1) worms

v 2) adware
3) trojon horse
4) malware



AT : - Adware X IO AP FPO\STR Taf2Ko 55 Sdetad [Ris1ord |

- 331 3D P STELBWR W3R U7 fowr 5 Rige1ord AT (Groa= Ik W B oTEd FACT AEA|
- Adware a8d GBI AT I REFT IR [Ka19/d p9d I |

- Adware TRIR IR F5afb BT Kearofd omq St I |

JYT-

Pay-per-click (PPC)
Pay-per-view (PPV)
Pay-per-install (PPI)

53a- kaspersky website

56) Which country does not belong to G-77?

v 1) Russia
2) Germany
3) ltaly

4) Japan

AN 1 G-7 TN IS A3 PIATGT, TEAIZ, P13, ST, FTEATS, 30T1cT QI AT |

57) The device used for both input and output purposes is

1) Mouse
2) Stylus
v 3) Touch screen
4) Printer

AN : RO IRAEI Tls QYT T 7 Device TE AP Input - Output (3990-
TMO59\0) TN “RITTGS BT I |

Input-Output device — Printer - Scanner,Camera, VCR,VCP,VTR, TV, Tape
Racorder, Modem Touch Screen

58) A football team is to be consisted out of 14 boys . In how many ways the
team can be chosen so that the owner of the ball is always in the team?

1) 135
2) 143
3) 169
v 4) 286



AT : 14 OO 7T (AP 19 5 Q@ 1P 13 0 (1 - 1) = 10 SO TBF 510 1 T =
13C,9 =286

59) Shonghoti and Shouhardo Clubs consist of 200 and 270 members
respectively. If the total member of the two clubs is 420 then how many
members belong to both clubs?

1) 60
2) 40
v 3)50
4) 70

A : «fR
n(A) = 200, n(B) =270 932 n(A U B) = 420

ST S

n(A u B) = n(A) + n(B) - n(A n B)
n(A n B) =n(A) + n(B) - n(A u B)
=200 + 270 - 420

=470 - 420

=50

60) If 1 +sin® =xcos 6 ,thentanBis

1) (x2+1)/x

2) (x2-1)/x

3) (x24+1)/2x
v 4) (x2-1)/2x



1+ sinB = xcos 6
41, (1 + sinB)/cosb = x
41, 1/cosh + sinB/cosh = x

4, sech + tanb = X............... (i)
| G s

491, sech - tanb) = 1/Xeceeueueueneee. (ii)

(i) - (i) =

Sec + tan - (secH - tanB) = x - 1/x
Jl, Sech + tanb - sech + tand = (x* - 1)/x
0, 2tand = (%% - 1)/x

tand = (x% - 1)/2x

61) OTG-cable is not releted to

1
2
3
v 4

smart phone
camcorder
dsl
processor

N— N N N

YT : OTG FIRCEK Y AL @1 SRS AP T |

- OTG 47 #f- On The Go. - OTG FIREH T I TR (WF ) TR
OIS T YR LS M- 271 BT I |

- OTG IIRCER FLUIH Y FLOR NSRRI FLXH 5T HOCPTd 5T Gl IR |

- IS ORI OTG IR IRZR IR fHOR (AP @ P TPCAT 127D BT IR |

53d : Samsung Website

62) In the address bar, first page of a website is termed as-

v 1) homepage
2) index

3) title page

4) bookmark

AT 2 \SCRSROA AV (RSO @S I |

- (T (TR FHTER SRS ZHRED ARIALPIIAT AP0 \SIHIRE FoNE A1 AHAP G 9T | -
\SRISIAGF @IS T AP (S AP Q7 I (TR SITPT 3G WP THCANCOH
T MRS AT |

- 10 @MY (7138 08 1T {JCAR 3A0GH 1 535 |



- 07 FHCH \3ER B ARPT FT 2 A7 @ (BG3 07 3R 2[R T AP |
- (T (ISR S TR (IS ToFF Ol A |

53a- Wix Website

63) What is the probability that an integer selected at random from those
between 10 and 100 inclusive is a multiple of 5 or 97

1) 27/89
2) 90/91
v 3)27/91
4) 23/89

AT 1 10 (A 100 U< T 5 < SIToP 5AN S I - 10, 15, 20, 25, 30, 35, 40, 45,
50, 55, 60, 65, 70, 75, 80, 85, 90, 95, 100 = >»f0

10 (AP 100 IR FHT 9 A7 BTGP H A A1 21« 18, 27, 36, 45, 54, 63, 72, 81, 90, 99 =
1070 &0 SiTeP = (19 + 10)0 = 29

45\3 90 T i To |
b WGP PATPH = 29 - 2 = 27

10 (A 100 9T T 6 5247 = 911
X’ ST <an = 27/91

64) If 21215120 represents ‘bloat ‘ then 6121135 represents:

1) voice
2) bald
v 3) flame
4) castle
AT = QX1
b=2,1=12,0=15,a=1,t=20
WK,
6=f,12=1,1=a,13=m,5=¢e
k86121135 = flame

65) In 2018-19 budget of bangladesh, forecast of private investment is
1) 10.35% of gdp



2) 15.25% of gdp
3) 20.45% of gdp
v 4) 20.15%o0f gdp

T : On June 07, Finance Minister AMA Muhith presented the budget for the
fiscal year 2018-19. The minister assured the nation that the country is firmly
on course to a higher economic growth achieving 7.8 per cent gross
domestic product (GDP) growth during the coming fiscal year. The benefits of
growth have also been assured to reach the poor and vulnerable sections of
the population among other beneficiaries of growth in the country. He even
alluded to the vision of a happy and prosperous future for the country to be
achieved by 2041.

66) The one - third of the complementary angle to 60°is

1) 150°

2) 100°

3) 40°

v 4) 10°

AT 1 60° 7 7RP Q1T = 90° - 60° = 30°
30° W< 1/3=10°

67) If 1 -3x < 4, then _

=

w N

X X X X
v I{\ Iy IA
P P NN

AN
I

AT : CRIT (>,
1-3x=4
da,1-3x-1=4-1
q,-3x <3
q1,-3x/3 = 3/3
dq,-x=<1
ALEx)(-1)=1(-1)
x=-1



68) The area of a rhombus is 96 sq. cm and the length of one of the
diagonals is 16 cm. The length of the other diagonalis

1) 18

v2)12
)9
) 6

> W

T : (N3] T,
IR CFawd 96 Isf 1.1,
IR I d16 .14,

4R,
IO WK B 7l d

ST Sfd,

IR CFAPA = 1/2 x IILI SIPA
96 =(1/2) x 16 x d

d=(96 x 2)/16

d=12

69) which of the following organization of World Bank is known as ‘soft loan
window'?

14T : - IDA (International Development Association) [RI1® spCo @dfo AR
- aff Ypwo ST AfRre =0 | I6aTE 57T 54y YqofT|

- QT35 77 |IBRD (U AT 2T T, IDA OIH- 312 <06 AT 21d B | I8 1D Soft Loan
Window drcs #&kfbo |

- JIREATCRT IDA (AP SR QXTSRS 21T | AIREATT 59 FER S TSTL IDA A7 SFHoM
o I |

(5338 IDA \3CIISIZD)

70) A wami mulim league was funded in-

v 1) rose garden
2) rup mohol cinema hall



3) ahsan manjil
4) madhur canteen

AT 2 Y98 HIER 30 Td TP (. AT A5 (GA] @S STCGTE @I X137 GTIRATNSTAT \3 W
TR ([@OFIHIE IR AT FHACTH AR IPTD W (@OT- PR PACSPIA TANSATHT 157
AfoRo |

- TOF I3 AT AP T L AT ISR AT AT |

- FISATA AR T AT STHAE o195, TGS IZHTF AT, N3G @A \3 AT AR
YA STR-TSITS, XTSI 2P SR 5P, T YO IZ (D4d PRNH), (AP
EPTOTE AT \3 . IRFP @ICIAP PLH-5TNNP, A7 I IR ATAP PIEINTT FA
SIS st 513 2

- YDEE FCER -0 TFREA TOR TG SO YHIRPF FToBR AP R 7o
(AP AT’ XD IM =T 2|

- Y%8b ST 831 TN HTT RRIRAITTT PO 26 X TS e aifofe 20 o)
TIPS THACTH =IaetrsT |

B . et

71) The official match ball used by fifa in world cup 2018 is-

1) tiento 18
v 2) telestar 18
3) tricolore 18
4) tango 18

AT : SRPTAIT FNRARGD 209, B3 O M6 I 3T AT |

-3 TGHR-Sb FEGTH 2023 ITOIRR ¢fB 127 16 bih (Gawe oo o Ty Rgprer
POICEH 0T WK |

- 00 FTE 203 I BCHTHT P FTOR RPIPCR ARG 6 ITK a1 e 2T (Al Rihla) |
- 30 TOORK T AR SRR 518 fI @ 93 (@101, OR 10" IS0 J7d - et [Ree |

- ORI ORI R 1S SR AT 1 GH5T |

72) What will be the difference in taka between simple and compound
interest at 10% on a sum of Tk. 1,000 after 4 years?

1) 31.90

2) 32.10

3) 44.90

v 4) 64.10

AT : GI3T W,
ge74d, P = 1000 TR



T, N = 4 I2d

S 2, r = 10/100

ST Sfdl

ST AT,

| = Pnr

=1000 x 4 x 10/100 =400 Q3
b FARPRI SHfaeeT,
C=P(1+4r)"n

= 1000(1 + 10/100)"4

= 1000 x (110/100)"4

= 1464.1

b= FATPT = 1464.1 - 1000

= 464.1

b2 FATPT \3 S JATPIK 1P = (464.1 - 400) T
=64.10 U107 |

73) The slogan adopted by CEDAW is

vl
2
3
4

Women rights are human rights
Preserve women rights

Equal rights for all

Let women enjoy equal rights

S~— N N N

4T : CEDAW <1 The Convention on the Elimination of All Forms of
Discrimination Against Women 1 a3 d1dt WiRAIRR 7foTet | IR SRR 2f5o™
% T Y99 FER dbr TG SRS SR ARG 5210 [ | b AR O GO
(AT SN PRIPI O BF P | CEDAW Fam 0olb -1 CZ | AU Suib 4RT kK A5 PO
2P (ITH ANZ B fAFH6 IR QIR A& Y870 GHT T I POl QST RCers1 1 I |

74) The ratio of two numbers is 3 : 4 and their sum is 630 . The smaller one

of the numbersis

AT ; ORI ACZ
70 SRR TG =3 . 4

SE



oo SRAMD = 3x

J20H ST = 4x

2PITCDT,

3x + 4x = 630

7x = 630

x =90

FHOH A = 3x 90 = 270

75) DVD stand for__

1
2
v 3
4

digital vedio disk
digital value disk
digital versatile disk
data video disk

~— N N S

AT : DVD 7 #[9@9f T%2- Digital Versatile Disk.

5SS (DVD) Tz fEfonT fSfe\s 6% a1 Ao Bt 5% |
Wb QT RET TADITA (6% -G O ATAK PIAID |
ERofbre B FRPFEOT PG QT G 2T AT @

fERoRG T YRPFEOT SR ¢ FSISTRIRD 218 2T A |

33a- TTRPT S=sTizs |

76) October 1985 corresponds to Bangla year

1392
1391
1394
1390

v1)
2)
3)
4)

AT : BRERG S (AF 593 T2 RCATST FACE AT HS 2T IR |

1985 - 593 = 1392

Q1T SODY S|

77) The protocol that provides information is

v 1) ftp
2) smtp
3) telent
4) snmp



NN = FTP 3ACPIOAHAGAEAD ST oMTd I |

- FTP @< 5@ . File Transfer Protocol.

- P13 [P (2ATCOTRAe (WTLof) IHRCECHT FINIH FERBTR 7R SGIER T P13 IS
AR G QD SRS QST (AT |

- 1361 [TETPR CATCOTRS (FTP) 287 LTSIePTd ST (AT TIPeY/ZTRCAD (AP (TCP/IP) IR
IR FORCKGT T Q0 FIT 7R TSI T TIRS BT PAR Gelf I (AT |

- uft aFd aBfT oM I TRASIAE FTRCED FLK FLTH FIAIEK PR TR0 O |

- FTP T0\3WK 267 \3CIARG 38 ZRISTR F0T SR S SAETS QI8 BREAETS IR
OO Sl 2Rl G|

33a- o1 \SasTizs |

78) If 42%*1=32 then x =?

1)2
2) 3
v 3) 3/4
4) 4/3
471 = 32
(Zl)izx:ol = 32
24 +2 _ 95
AT 4x+ 2 =5
dx=5-2
4x = 3
x=3/4

79) URL stands for

1) Universal Resource Locator
v 2) Uniform Resource Locator

3) Uniform Router Locator

4) Unified Resource Locator

10T : URL W1 9{A9 % - Uniform Resource Locator.

- IDRAT IS AT @ TSI A W TR a3f0 e 3 fae e AeF, T URL
(Uniform Resource Locator) 31T \3®R WL 0T | @dd- amazon.com

- ACOTPID \SCAISIAG AT Wermt URL A |

- BOWRAT A7 YT IS \SCRIHIXT AT BT T |

- Url @R 28 QK dTd 261 A0 (protocol) |

- Url U7 a8 QIReoR a1 257 @F6 (@ 3T (BTCHad (@ |

53a- Mozilla Website



80) In MS-Word, which short cut key is used for reviewing a text?

1) Ctrl+N
v 2)F7

3) F712

4) Ctrl+Q
4 : In MS-Word, the shortcut key used for reviewing a text is "F7". Pressing
the F7 key will launch the spelling and grammar checker, and it will scan the

document for errors and provide suggestions for corrections. This is a useful
tool for proofreading and editing written work.

TR IGR 2d TR “WPF1 fd I [Fast acet) oaRsis a3 fics fof&s T3 live.hellobcs.com
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